
Parallel and Perpendicular Lines
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1 Define the following terms in relation to straight lines and equations of straight lines:

1(a) ‘Parallel’

[1 mark]

1(b) ‘Perpendicular’

[1 mark]

2(a) Circle the line below which is parallel to 𝑦 = 5𝑥 + 4

[1 mark]

𝑦 + 5𝑥 = 3 𝑦 − 5𝑥 = 2

2𝑦 = 5𝑥 + 10 𝑦 = 6𝑥 + 3

2(b) Circle the line below which is parallel to 𝑦 = 3𝑥 + 4

[1 mark]

𝑦 + 3𝑥 = 3 𝑦 −
1

3
𝑥 = 2

2𝑦 = 6𝑥 + 10 𝑦 = 6𝑥 + 4

Turn over for next question

Turn over ►

4



3

3(a)

Find the equation of a line which passes through point  (−1,5) and is parallel

to 3𝑥 + 𝑦 = −12

Circle your answer. 

[1 mark]

3𝑦 = −3𝑥 + 6 3𝑦 = −3𝑥 + 7

𝑦 = −3𝑥 + 2 𝑦 = −3𝑥 + 7

3(b)

Find the equation of a line which passes through point (2,5) and is parallel to

𝑦 = 4𝑥 − 10

Circle your answer. 

[1 mark]

2𝑦 = −3𝑥 + 2 𝑦 = 4𝑥 − 3

2 = −3𝑥 + 2𝑦 2𝑦 = −𝑥 + 12

3(c)

Find the equation of a line which passes through point (4, 1) and is parallel                 

to 𝑦 = 2𝑥 − 2

Circle your answer. 

[1 mark]

4𝑦 = 𝑥 − 7 𝑦 = −2𝑥 − 1

1 = 𝑦 − 2𝑥 − 7 𝑦 = 2𝑥 − 7

Turn over for next question

Turn over ►
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4 Determine if each of the following lines are parallel to line 𝑦 = 5𝑥 + 2 or not.

4(a) 𝑦 = −5𝑥 + 4

[1 mark]

Answer

4(b) 5𝑦 = −𝑥 + 2.

[1 mark]

Answer

4(c) 𝑦 = 5𝑥 + 10

[1 mark]

Answer

4(d) 𝑦 − 5𝑥 = 0

[1 mark]

Answer

4(e)
𝑦 =

1

5
𝑥 + 4

[1 mark]

Answer

Turn over for next question

Turn over ►
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5(a) The line 𝐶𝐷 is defined by the points 𝐶(−2,1) and 𝐷(10,7).

Find the equation of the line 𝐶𝐷.

[2 marks]

Answer

For each of the following lines, label them as parallel to 𝐶𝐷, perpendicular to 𝐶𝐷, or 

neither.

5(b) 𝑦 = −2𝑥

[1 mark]

Answer

5(c)
𝑦 =

1

2
𝑥

[1 mark]

Answer

5(d) 12𝑦 = 6𝑥 + 7

[1 mark]

Answer

Question continues on next page

Turn over ►
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5(e) 2𝑦 = 2𝑥 + 2

[1 mark]

Answer

5(f) 2 𝑦 − 3𝑥 = 5 − 2𝑥

[1 mark]

Answer

5(g)
0 =

2𝑥 + 𝑦

2

[1 mark]

Answer

Turn over ►
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6 Line 𝐷 is parallel to the line 𝐶.

Two points on 𝐶 are (2, −2) and (11,4).

(3,2) is a point on 𝐷.

Find another point on 𝐷.

[3 marks]

Answer

Turn over ►

3



8

7 Line 𝐴 is shown below. 

7(a) Give the equation of a line which is parallel to line 𝐴

[2 marks]

Answer

7(b) Give the equation of a line which is perpendicular to line 𝐴

[2 marks]

Answer

Turn over ►

4

𝐴
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8 𝐴 and 𝐵 are two perpendicular lines with equations:

𝐴: 𝑦 = 𝑚𝑥

𝐵: 𝑦 = 𝑝𝑥 + 5

8(a) Find the equation for line 𝐴

[2 marks]

Answer

8(b) Find the equation for line 𝐵

[2 marks]

Answer

Turn over ►

4
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9(a) Find the equation of the line that passes through (9,14) and is parallel to 𝑦 =
1

3
𝑥 − 5

[2 marks]

Answer

9(b) Find the equation of the line that passes through (5,4) and is perpendicular to           

𝑦 = −3𝑥 + 4

[2 marks]

Answer

9(c) Find the equation of the line that passes through (−1,−5) and is perpendicular to       

𝑦 =
1

3
𝑥 − 2

[2 marks]

Answer

9(d) Find the equation of the line that is parallel to 2𝑦 = 3(2 − 3𝑥) and passes through the 

point of intersection of 𝑦 = 𝑥 + 8 and 𝑦 = −3𝑥 + 4

[3 marks]

Answer

Turn over for next question

Turn over ►
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10 One side of a rectangle lies on the line 𝑦 =
2

3
𝑥 + 3

Write down three other equations that could form the other three sides of the 

rectangle.

[3 marks]

Answer

11(a) The line 𝐴 is given as 5𝑦 − 2𝑥 − 2 = 0.

The line 𝐵 is perpendicular to 𝐴 and passes through the point (1,−1)

Find the point of intersection of the two lines.

[2 marks]

Answer

11(b) A third line, 𝐶, is perpendicular to 𝐵 and has 𝑦-intercept of −3. Write down the 

equation of 𝐶.

[1 mark]

Answer

End of questions 

END

6


	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11

